EARAZROREIERT — 2 N—XBISY —F 2019518248 (K) 17@KXH4H

mﬂﬁ%—ﬂﬁ C1Xt (xwlw | mEmml - |5 5 w8
[A&4£] 1 7% :1,200,000 @ ~ 2 7 :480,000 @ . 33 :300,000  ~ 4 3#:180,000 @ . 5 7 :120,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< S kil 144, —6-6- . — ERER (KFH)
1 6l 325—F—%v o4 & 1(4_4)4 6-6-6-5 | 40.2 1 fzs) i
R:ARN—3I>Th—L B:TA-FF3MX F—L—-TJvNr - T7—LERE
oLl S A T ANElsE 144, —-8-10- . — HFIEE (KH)
N RESOPr 2 750 iy | e s 2L | T s
Lxoyv¥/¥tF B:XTYLTRY2— pui e}
s= . o6 | MRERESE 1:45.4 7-7-6-6 | 41.3| — 11 493 | FESRICHN (/\iA)
3| 8|14 F7I~TE> 56.0 @ 1/2) oy | P
H R YLy BII T4 T AL R s
. g | HARE 1:45.4 14-14-13-11{ 40.1 | — 4 479 | BEEN (KH)
aj1j1|/~ %0 (76) Gy | FHEL
R:FF7RTZ4 M) — B:T9Ia7 ® %%
_ iy s 4 | THEEE 1:45.6 1-11-9-9 | 41.2| — 8 431 | BER (KH)
5 4| N—FT—FA4Y 5.0 ) +3) "B P N
LA LINT Ry IZ By URELT—Ib AAYELRT7—L
= el |5t 146. -10-12- . — FEHEBEK (KH)
5 3 STAALH— 4 5 54.0 1 (426)0 10-10-12-12 41.1 9 (4+615) -
L ZZXH2eR BIZXTXxT 0N f=oye]
S 4 o4 | BEY 1:46.1 2-2-2-2 |43.2| — 6 487 | BOBEZ (KH)
71gli5| TTUNF 1 56.0 (3/8) © |IZIIMLEIIT W)
gy —3UT7> B:Ia—FNY—4 =]l e]
R HEAE : -4-8- — FRAZEZ (1)\#£)
8 IRSZAY S N A53.0 1(/;?:)2 e8| 422 1 ?:337) INREFN -
L=V FITyPa BTLAIFISTIL ENCPERSIZ ¢
2=\ HHE 146. —5-4- . — BERAE (KFH)
9l7li3l 774 -2a o4 i 1(416)4 5-5-4-4 | 42.5 7 (4_717) i
R:v=Z24—-3=24— B4 A-X N -
e o= vy 6 | KEFEZ 4. e 5| — BEIEE (k)
N ; IR EE T TS Gae | T e ’ (ffg) WA ZE S
R:77NMT55 B:URIyIELR HET77— L
ILF B4 | RIBES 1:46.7 13-13-14-14| 41.0 | — 12 | 492 | SFEAFAABR (KH)
11 71 54.0 (11/2) (+5) INEF BT
L:U—FHIITYL BILFUS NEFRE B
Pzl mETS : ~15-15- — ZIRERIE (/)\HE)
158 7UYL 48 i 1.(427).1 15-15-15-15| 40.6 13 (5_341) ShEe /N
R:FA—TAIN b B:ZLA Xy b (B) HBaI—KL—Ya>AET7
ST — o4 | BBXS 1:47.6 1-1-1-1 | 44.7| — 5 508 | fESRICHN (Z)\#k)
13[7|12| 7 =% — /N7 5.0 @ 1/2) o |k
R:T7yvIs—L Bie1y>ILF4 Fi5 I
T o =T BHHR 7. -12-11-13| 43.5 | — EFH= (k)
uMiilv759725 92 o4 Es (11 417/29) 12-12-11-13| 43.5 15 (5+266) el
L:O—X¥x>J4L B:F-TL TR B MER
. > FREA : -9-5- — 2fREEEZ (KH)
15151 o HL At > 6 = (12418/24> 9-9-5-7 | 44.5 10 (i?g) LEaE (
VLR YTYZATIZ BN SA—T J—HrTr—L
® I —F—EBIERL
13—F— 12,15,5,10,13,6,14,2,9,3,4,11,7,1,8
2=1—F— 12,15,5,10,13,6,14,2,9,3,4,11,7,1,8
Gal=5r= 12,15,5,13,9,(6,14),10,4,2,11,3,1,7,8
40—+ — 12,15,5,13,6,14,9,10,4,2,1,3,11,7,8
[ JIN=3
BB 6 200H 714K 2-6 200M % E 2-4 4108 3EHE 2-6-14 5,260/
8 B 6 130H4 6-14 1,720H B 4-2 790M K31 6-2-14 16,070M
2 140/ 2-14 1,810 B E 2-6 380
14 540M B H 6-2 670M

ABICOVWTRDTEEERROODE. TR LIV,



